AP Exam Review /
Ch 11-13 Simulation
Practice for April

Free Response Question

George is interested in how many times in a row even numbers can come up with repeated rolls of the dice.
He would like to know if he rolled one die 60 times, what the average # of evens in a row would be. Design
an simulation of rolling a dice 60 times and find out the mean number of evens in a row.

Use the random number table below. Indicate the row where you started and how you used these numbers.

Show your results in a table or graph and state the mean # of evens. ﬂ»ﬂ l | 5
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Every Monday a local radio station gives coupons away to 50 people who correctly answer a question about
a news fact from the previous day’s newspaper. The coupons given away are numbered from1 to 50, with the
first person receiving coupon 1, the second person receiving coupon 2, and so on, until all 50 coupons are
given away. On the following Saturday, the radio station randomly draws numbers from 1 to 50 and awards
cash prizes to the holders of the coupons with these numbers. Numbers continue to be drawn without

ment until the total amount awarded first equals or exceeds $300. If selected/coupons | through 3

each have a cash value of $200, coupons 6 through 20 each have a cash value of $100, and coupon 21
through 50 each have a cash value of $50. r

a. Explain how you would conduct a simulation using the random number table provided below to estimate
the distribution of the number of prize winners each week.

b. Perform your simulation 3 times. (That is, run 3 trials of your simulation.) Start at the leftmost digit in the
first row of the table and move across. Make your procedure clear so that someone can follow what you did.
You must do this by marking directly on or above the table. Report the number of winners in each of your 3
trials. P
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Per the prompt, two digit numbers 01-05 are worth $200, 06-20 are worth $100, and 21-50 are worth $50.
Numbers 51-99 and 00 are worth nothing.

I read two digits at a time circling winners, and SKIPPING repeats. When I have given away $300 or more I
stop.

The winnings each week are
3 people for $300
5 people for $350
4 people for $300
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Boys vs Girls: Free Response Question

Two women meet at the obstetrician’s office waiting for an ultrasound to determine the sex of their second
child. Beth and Laura already have one boy. Beth said, “I heard that it is more likely to have both children
the same sex rather than one of each.” “Nonsense,” replied Laura, “you have the same odds of having two

different sex children or two children the same.” Who is correct, Beth or Laura?

IT is the proportion of families who have two same sex children.

Conduct a simulation with the random number table below for sixty (60) families to determine if Beth or
Laura is correct. Conduct a test of interference for Ho: m = .50 Ha: > .50
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